
External outfitting

003
002

003

010

012

001

002

004

008

007

006

005

009

013

014035

034

016

017

018

025

026

073

070

070

071

074

074

070

072

015



External outfitting

12367PBSSA-tes tnorF M480-N100
2510LPAAPAA       S gnikcap tnorF200
2710LPAAPAA       L gnikcap tnorF300
1800KCEDCED         etalp laes pmaL400
1100KMJEMJE         lebal margaid noitcennoC500

006
007

1300KUAEUAE          1 lebal noituaC
1400KUAEUAE          2 lebal noituaC
1400KBUBBUB etalp laes thgitniaR800
1200KURCURC      teehs noitalusni gulP900
1100FMDEMDE           xob tsuahxE010
1300LNHDNHD     gnikcap tnioj tsuahxE210
2220AKXBKXB   gnilpuoc gniriW310
2620APXCPXC            temmorG410
1200LLDELDE     gnikcap rednilys tsuahxE510
1500ALDELDE       2 revoc pot esaC610

017 Case top cover        EDM

034
035 Junction box packing    EHU

EDMA003

EHUA008
EHUL002

1

1
1

1100LMDEMDE      gnikcap pot esaC810
025 Case                EJM
026 Air themistor   BWC

Junction box set    EHU

EJMA001
BWCH003

1
1

070 Cross recessed round-head collar N-tapping screw 4X8
071 Cross recessed truss type3 EVERTIGHT tapping screw with PW 4X12
072 Cross recessed round-head collar N-tapping screw 4X10
073 Cross recessed round-head collar type3 EVERTIGHT tapping screw  4X12
074 Cross recessed truss type3 S TIGHT tapping screw  4X10

Part tinu/yt'Q.soN redrOsemaN traP.soN 



Combustion unit and gas route
100

109

126

173

170

070

119

125

070
173

122

123

121

120
172

172

073

124
171

121

110

116

117

117

118

171
172

175 175

112111

115114

127

070

176

070 132

131

129

128

072

141

070

103

104

101
102

105

070



Combustion unit and gas route

12037PBSV-TES CAE tes ebut noitsubmoC001
16057ABSV-TES KLD dor emalF101
1210LKLDKLD    )N rof(gnikcap gulP201
14057ABSV-TES  gulp noitingI301
15057ABSV-TES KLD rosnes renruB401

105
109

1900CKLDKLD    )N rof(etalp gnixif gulP
1200LNHDNHD     gnikcap tnioj  ria noitcuS
15787EBSSA-TES MDE 51 tes dlofinaM011
14787EBSSA-TES MDE 42 tes dlofinaM011
36437QASSA-TES URC L61S dioneloS111
16047QASSA-TES URC L42S dioneloS211
33346DASA1epyt 03S gnir-O411

115 O-ring S-38 SAD6372 1
1200LPRCPRC     pot gnikcap laes dlofinaM611
2400LPRCPRC     edis gnikcap laes dlofinaM711

118 Manifold seal packing bottom    CRP

122
123 O-ring JASO 2028A

CRPL003

SAQ7708
8590109

1

1
1

1030FEKDEKD             retom naF911
120 Manifold pipe set       EDM
121 O-ring P25.5

Gas mech. S24DQ CRP SET-V

EDME006
SAB1512

1

1
1100EHJEHJE     TES A02 gnittif saG421
1100CTLDTLD     esac renrub rof etalp gnitnuoM521
1250CPRCPRC         11repmad niaM621
1600JMDEMDE           01R tiudnoC721

128 Igniter             CRP

141

CRPJ002

CRUC045

1

1
CRUC046 1

19221CAS074 droc egatlov-hgiH921
131 Mounting plate for igniter       EAC
132 Mounting plate for igniter       DTJ

Bell-mouse ¿44         CRU

EACC011
DTJA015

1
1

2

141 Bell-mouse ¿48         CRU

170 Cross recessed round-head type3 EVERTIGHT tapping screw 5X16
171 Cross recessed hexagon head machine screw M4X8
172 Cross recessed round-head machine screw M4X8 
173 Cross recessed round-head N-tapping screw 4X8
175 Cross recessed round-head SPAKmachine screw with guide M4X12
176 Cross recessed round-head collar N-tapping screw  4X12

Part tinu/yt'Q.soN redrOsemaN traP.soN 



Hot-water feed route

Freeze preventive heater
Heater fastener

Thermal fuse 401407
408

402 Thermal fuse fastener 402 Thermal fuse fastener

Thermal fuse fastener 402

(Thermal fuse rounding procedure)

(Front side view)(Left side view) (Rear side view)(Right side view)

401
424

428

433

402

406

402

407

408

402

173

409

406

471

470

511

411 413

410

434

176

453172

420

172

455
443

445

509
418

434
456

456

434

431

456

412

417

456

B

B

438
439

440

434

172

509
418 073

446

472 471

434

456
A

A

C

C

D

D

435
412

463

507

508
413

458

423
412

510

402

413

418

172

509
442

441073

414

454
428

456
434

400

412

511413

435

421

422

434

437

444

447

452

468
173

412425
413

508

427507



Hot-water feed route

19317AKSSA-TES MJE  regnahcxe taeH004
18937ABSV-TES NHD  esuf lamrehT104
3300HDXCDXC      renetsaf esuf lamrehT204
2410ANHDNHD      revoc esuf lamrehT604
15477QASV-TES PRC retaeh evitneverp ezeerF704

408
409

1100HKHEKHE       renetsaf retaeH
1100HUHEUHE           69 ecived ytefas emalf gniniameR
1110DTZDTZD 2 tes ovres wolf retaW014
1890DCWBCWB  retsimreht regnahcxe taeH114

412 O-ring P4C 1323709 5
5880DSLASLA        etalp gnidloh rotsimrehT314

414 O-ring P20C 3059502 1
1010DTZDTZD 1 tes ovres wolf retaW714
3200HDGBDGB       3 retaeh evitneverp ezeerF814

420 O-ring P22C 7573308 1
421 Hot-water feed pipe         DHN

425
427 Water outlet magnetic sensor      BWC

DHND010

BWCD097
BWCD090

1

1
1

1300DCAECAE        epip ssapyB224
423 Hot-water thermistor  BWC
424 Water flow sensor set 3       DUV

Water inlet thermistor     BWC

BWCD096
DUVD019

1

1
428 O-ring P12.5C 3359808 2

1100DCAECAE          epip telni retaW134
17356DAS22-31 renetsaf kciuQ334

434 O-ring P16C 3223302 7
435 Shut-off cock AXG

440

AXGD089

DTJD006

2

1

1200DMJEMJE    TESA02  gnittif telni retaW734
438 Water filter (SUS)      EGB
439 O-ring 16DF BRQ

Water filter          DTJ

EGBD032
BRQL008

1
1

1

1300DURCURC            kcoc niarD144
13366DAS3P gnir-O tnatsiser retaw-toH244
1700DCAECAE        gnilpuoc gnixiM344
1310DCAECAE         ydob gnixiM444
1530DCWBCWB rednilyc gnixiM544

446 QMF safety valve

454
455 O-ring JASO 2026 type4 C

SAA2811

6340202
SAA6483

1

1
1

15366DAS9P gnir-O tnatsiser retaw-toH744
452 Hot-water outlet fitting        EJM
453 O-ring P11C

Quick fastener 12.7

EJMD001
1326503

1

1
60030436A61 renetsaf kciuQ654
1710DVUDVUD       1TES rosnes wolf retaW854
1390DCWBCWB rosnes citengaM364
1200HVHBVHB  tatsomrehT864
1800JTZDTZD           68 tiudnoC074
2140DLZCLZC        revoc foorpretaW174
1900JTZDTZD  tiudnoc elbac rotom ovres274

1

507 Cross recessed truss P TIGHT screw 4X10
508 Cross recessed round-head P TIGHT screw 4X14
509 Cross&straight recessed round-head collar type3 S TIGHT tapping screw 4X8
510 Cross&straight recessed  type3 S TIGHT tapping screw 4X8
511 Cross recessed round-head P TIGHT screw 4X14

Part tinu/yt'Q.soN redrOsemaN traP.soN 



Special part Special part no.

<Special part>

instruction manual 888

703

705

700

176

752

751 753

754

755

801

802

731

731
070

704

732

070

714

716
708

176

070

070

706

707

701

Electronic control unit

Remote controller
kitchen remote controller
(RC-7646M-2-USA)

Attached set



Electronic control unit, Remote controller and Attached set

12867AHS SA-TES UHE esac yaleR007
1200JMJEMJE              ssenraH107
1410JPRCPRC           tiudnoc elbac pmaL307
1510JJTDJTD   ecived ytefas egakael tnerruC407
1410AKEDKED         revoc esac yaleR507

706
707

Tr 1600JNDENDE               remrofsna
Tra 1450APJDPJD          revoc remrofsn

1600ATZDTZD       kcolb lanimret rof etalp gnitnuoM807

800
801

13367PBSV TES gnikcap M480-N
Cross recessed round-head type1 tapping screw 5X35

1100MUAEUAE   TES S droc rellortnoc etomeR208
16008RASM480-N launam noitcurtsnI888

714 Nylon clamp HP-4N (NK-4N) 7287909 2
716 Conduit 90-2 CCP CCPJ028 1

731 Cross recessed bind machine screw M3.5X6
732 Cross recessed round-head N-tapping screw 4X12

751 RC-7646M-2 body USA  QME

755

QMEJ005 1
1300AEMQEMQ       ydob emarf dessrD257

753 Wall packing           QHU
754 Oar plug 6X25

Cross recessed round wood screw 4.1X25

QHUA115 1

Part tinu/yt'Q.soN redrOsemaN traP.soN 


